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STEL A SERERI0% LI E A SERMERTO%LL E90%K B, ERERT0%KE :C. REME:D. & T :E
NKERIOEELIEDRAHEICDONTIE, PEERERORIEZLH (%)

ER2TEERE(N) | FR8EEEZ(N) | FRIFEEEF(N) | FHRIOCEEEBE(N) |[SHMTEERRA(N)

=20 RAH(A) 93,251 96,718 100,265 119,095 126,240
EFRAAHA) X 94,507 98,200 94,469 90,815 126,240
- HER=E(B) 106,048 113,719 116,550 119,615 126,240
e (EHHmEES) 21 23 24 24 25

(B)—(A) 12,797 17,001 16,285 520

(B)—(A) 11,541 15,519 22,081 28,800

ERalil A A A A A
ER2TEERE(N) [ FR8FEEER(N) [FROFEEF(AN) [FHRIOFERELZ(N) [SHMTEERA(N)

=D RiAH (A 41,751 41,751 41,751 54,454 56,578
ERAAR(A) X 52,345 50,442 45,530 43,690 56,578
i BR=E(B) 52,345 50,442 52,410 54,454 56,578
T (ErEERE) (B 8 8 8 8 8
(B)—(A) 10,594 8,691 10,659 0 0

(B)—(A) 0 0 6,880 10,764
=20 RAH (A) 980 980 980 1,582 1,644
EFAANBA)X 854 1,464 1,716 1,438 1,644
g HER=(B) 980 1,464 1,716 1,582 1,644
7= (ERERER) & 1 i i i i
(B)—(A) 0 484 736 0 0

(B)—(A) 126 0 0 144
=D RAH (A 2,003 2,003 2,003 2,837 2,948
ERAAR(A) X 3,046 2,627 2,104 2,107 2,948
5 HER=(B) 3,046 2,627 2,730 2,837 2,948
[EFiTETNETD) 1 1 1 1 1
(B)—(A) 1,043 624 727 0 0

(B)—(A) 0 0 626 730
=20 RAH (A) 4,300 4,300 4,300 4,300 4,300
EFAANBA)X 250 1,268 2687 2,682 4,300
HEA HER=(B) 2,360 4,300 4,300 4,300 4,300
CENNET TG hD i 1 1 1 1
(B)—(A) A 1,940 0 0 0 0

(B)—(A) 2,110 3,032 1,613 1,618
=0 RAH (A) 6,448 6,448 6,448 6,448 6,448
ERAAR(A) X 3,241 5,444 5,560 6,968 6,448
= BR=E(B) 6,448 6,448 6,448 6,968 6,448
=l [EFiT BT NETD) 2 2 2 2 2
(B)—(A) 0 0 0 520 0

(B)—(A) 3,207 1,004 888 0
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=20 RAH (A) 812 739 4,300 4,300 4,300
EFRRAAZA) X 0 2397 4,022 4,104 4,300
= HER=(B) 0 4,300 4,300 4,300 4,300
Rz [EF G BT NETD) 0 1 2 2 2
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(B)—(A) 0 0 1,572 2,169
=20 RAH (A) 15,715 15,715 15,715 15,715 15,715
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20D RAH (A 725 4,300 4,300 (4,029) 4,300
ERAAR(A) X 0 0 (2,720) (2,670) 4,300
R FERE (B) 0 0 0 0 4,300
= (EMERERR) (&) 0 0 0 0 1
(B)—(A) A 725 A 4300 — —
(B)—(A) 0 0 — —
=20 RAH (A) 11,108 11,108 11,108 11,108 11,108
EFRRAAZA) X 8,667 7,838 8,404 7,442 11,108
2.4 HER=(B) 11,108 11,108 11,108 11,108 11,108
* [EF G BT NETD) 3 3 3 3 3
(B)—(A) 0 0 0 0 0
(B)—(A) 2,441 3,270 2,704 3,666
20D RAH (A 612 577 563 4,300 4,300
ERAAR(A) X 0 521 786 729 4,300
T HEfRE (B) 0 4,300 4,300 4,300 4,300
(ErEERE) (B 0 1 1 1 1
(B)—(A) A 612 3,723 3,737 0 0
(B)—(A) 0 3,779 3,514 3,571
=D RIAH(A) 197 197 197 (836) (869)
EFRRAALA) X 0 0 (1,092) (1,189)
e HERE (B) 0 0 0 0 0
& [EF G BT NETD) 0 0 0 0 0
(B)—(A) A 197 A 197 — —
(B)—(A) 0 0 — —
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